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NEW QUESTION 1
Drag and drop the codecs supported by Blast on the left to the appropriate use case on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 2
An administrator wants to ensure users can access an application that uses .NET 3.0 for desktops available on Horizon On-premises and on Horizon Cloud
Service on Microsoft Azure.
Which two options would achieve this requirement? (Choose two.)

A. Create a ThinApp package and provision it with App Volumes.
B. Install the application on the primary image.
C. Copy the vmdk and .json file to the Azure storage.
D. Capture the application in App Volumes.
E. Copy the vhd and .json file to the Azure storage.

Answer: DE

NEW QUESTION 3
An administrator sees a lot of instant-clone template VM’s that are not in use anymore in vCenter. What tool needs to be used to clean up old templates?

A. iccleanup.cmd
B. icunprotect.cmd
C. vdmadmin.exe
D. icmaint.cmd

Answer: D

NEW QUESTION 4
Which are the required permissions an administrator must assign to the user account for instant-clone operations in active directory before creating instant-clone
desktop pools? (Choose three.)

A. Write to service principal names
B. Read and Write All Properties
C. Modify Owner
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D. List contents
E. Create and Delete Child objects
F. Create and Delete Computer Objects

Answer: BDF

NEW QUESTION 5
Which two Windows Server Operating Systems are supported by VMware Horizon 8? (Choose two.)

A. Windows Server 2019
B. Windows Server 2008 R2
C. Windows Server 2012
D. Windows Server 2003 R2
E. Windows Server 2016

Answer: AE

NEW QUESTION 6
A Horizon administrator is tasked with creating a new pool of desktops with hardware-accelerated graphics with vMotion support.
Which graphic acceleration types can the administrator choose to meet the requirement?

A. Virtual Shared Direct 3D
B. Virtual Shared 3D rendering
C. Virtual Dedicated Graphics Acceleration
D. Virtual Shared Pass-through Graphics Acceleration

Answer: C

NEW QUESTION 7
Where can an administrator find the VDI machines in the Horizon LDAP?

A. OU=VDI
B. OU=Desktops
C. OU=Servers
D. OU=Machines

Answer: C

NEW QUESTION 8
Refer to the exhibit.

An administrator configures a CA certificate for the Connection Server. However, they are still encountering certificate warnings when trying to connect to the
Connection Server. The exhibit displays the properties of the CA-Signed certificate.
Referring to the exhibit and using the alpha-character indicator, which image shows the root cause of the issue?

A. D
B. C
C. A
D. B

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 2V0-51.21 dumps
https://www.2passeasy.com/dumps/2V0-51.21/ (94 New Questions)

Answer: D

NEW QUESTION 9
An administrator wants to ensure that user’s desktop experience is consistent regardless of the desktop they connect to.
What solution should be used to meet the requirement?

A. Persona Management
B. Dynamic Environment Manager
C. Local Profiles
D. Temporary Profiles

Answer: B

NEW QUESTION 10
An administrator wants to provision a new Golden Image but doesn’t see the VM in the list with golden images.
Which could be the cause of the issue? (Choose two.)

A. No snapshot was made after optimizing the golden image.
B. There is more than 1 active snapshot on the golden image.
C. The golden image VM is not configured with a CD-ROM player.
D. The wrong Guest OS Version was selected when creating the golden image.
E. The golden image was not optimized.

Answer: AE

NEW QUESTION 10
Which two capabilities are supported by VMware Dynamic Environment Manager Application Profiler? (Choose two.)

A. It allows individual user personalization of applications.
B. It allows creation of computer templates.
C. It allows third-party user personalization of applications.
D. It allows creation of application-specific predefined settings.
E. It analyzes registry and file system location settings for an application.

Answer: DE

NEW QUESTION 12
An administrator needs to monitor Connection Server health by using a http request. Which command is the correct command to use?

A. GET https://<connectionserver>:22443/favicon.ico
B. GET https://<connectionserver>:9443/favicon.ico
C. GET https://<connectionserver>:443/favicon.ico
D. GET https://<connectionserver>:4172/favicon.ico

Answer: C

NEW QUESTION 15
Which description explains Cloud Pod Architecture?

A. Cloud Pod Architecture is a feature that requires additional licenses to activate and use.
B. Cloud Pod Architecture is a feature only available when using Windows virtual desktops in a Horizon environment.
C. Cloud Pod Architecture is a feature that provides cross-data center administration, high availability desktops, and disaster recovery capabilities.
D. Cloud Pod Architecture is a feature that allows a vSphere cluster to become highly available for virtual desktops.

Answer: C

NEW QUESTION 19
Integration of VMware Horizon resources with Workspace ONE consists of several high-level steps. Drag and drop the integration steps on the left into the correct
sequential order on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 22
Refer to the exhibit.
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When editing an existing instant-clone pool, an administrator cannot find the option to configure the vRAM size in the wizard.
Referencing the exhibit, which could be the cause of the issue?

A. Increasing vRAM size is only possible for manual pools.
B. Modifying the vRAM settings is not permitted when selecting VMware Blast as default protocol.
C. Modifying the vRAM settings is not permitted when selecting Manage using vSphere Client.
D. Configuring vRAM size is only permitted during pool creation.

Answer: D

NEW QUESTION 24
Which three Horizon based resources does Unified Access Gateway provide access to? (Choose three.)

A. virtual desktops
B. physical desktops
C. thin client
D. RDSH-based applications
E. IOT devices

Answer: ACD

NEW QUESTION 26
An administrator is tasked with allowing managers to request desktops and changes to desktops for their employees.
What VMware solution can be used to meet this requirement?

A. vRealize Operations
B. Horizon Automated Pools
C. vRealize Automation
D. Horizon Help Desk

Answer: B

NEW QUESTION 30
The virtualization of physical resources after installation of a hypervisor follows a specific procedure. Drag and drop the procedural steps on the left into the correct
sequential order on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 33
Which two steps must be completed in order to expand a writable volume? (Choose two.)

A. Select Volumes > Writables > Select Volume > Expand.
B. Modify the snapvol.cfg to reflect the new size.
C. Select Volumes > Writables > Select Volume > Update Writable.
D. Specify a size which is at least 1MB larger than the current size of the volume.
E. Specify a size which is at least 1GB larger than the current size of the volume.

Answer: AE

NEW QUESTION 37
An administrator notices that a cloud pod is not in the correct site. What can be done to solve this issue?

A. Under Settings > Cloud Pod Architecture, select the pod and change the name of the site.
B. Under Settings > sites, select the site, and select move pod to this site.
C. Under Settings > Cloud Pod Architecture, select the pod, click edit and select the correct site.
D. Under Settings > sites, select the pod, click edit, and select the correct site from the menu.

Answer: D

NEW QUESTION 38
A Horizon administrator does not see the health status for the Unified Access Gateways (UAG) they configured in the Horizon Console.
What two options could be causing the issue? (Choose two.)

A. The firewall hasn’t been configured properly to allow traffic on port 443.
B. The pod needs to be added to the Cloud Pod Federation.
C. The Connection Server needs to be rebooted.
D. Another license is needed for UAG health overview.
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E. The name entered in the Horizon console doesn’t match up with the system name in UAG.

Answer: CE

NEW QUESTION 40
Which three options are required to use an instant-clone pool? (Choose three.)

A. VMware vSphere
B. Horizon Intelligence
C. Horizon Composer
D. Horizon Connection Server
E. Horizon Agent
F. High speed Internet Access

Answer: ADE

NEW QUESTION 44
An administrator is preparing to upgrade Horizon Connection Servers in parallel.
What action must first be performed to ensure that there are no issues with Horizon LDAP replication within the Pod?

A. Execute vdmadmin.exe -s.
B. Execute vdmexport.exe -f Myexport.LDF.
C. Execute repadmin.exe /showrepl localhost:389.
D. Execute ViewDBChk.cmd --scanMachines.

Answer: C

NEW QUESTION 49
Drag and drop the TLS Configuration steps on the left into the correct sequential order on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 54
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Which can be used to make sure only certain Connection Servers are used for a Global Entitlement?

A. Category Folders
B. Home sites
C. Tags
D. Access Groups

Answer: D

NEW QUESTION 59
......
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